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BOOKS - RD SHARMA MATHS (ENGLISH)

FACTORIZATION OF ALGEBRAIC EXPRESSIONS

1. Factorize each of the following expressions : zt + yt (i) 2t + 42® + 3

° Watch Video Solution

1 27a? 9a

2. Factorize : 27a* + + +
6403 4b 16b?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pCaK87JAsZ7A
https://dl.doubtnut.com/l/_zWLPKyHTpJ9O

3. Simplify: (a: + y)3 _ (x _ y)3 _ 6y(x2 . yz)

o Watch Video Solution

0.87 x0.87 x0.87+0.13 x 0.13 x 0.13
4, Prove that : =1
0.87 x0.87 —0.87 x0.13+0.13 x0.13

o Watch Video Solution

5. Factorize each of the following expressions : 54zly+ 23y,

3 5

8m2y T

o Watch Video Solution

6. Factorize each of the following expressions : (i) z'? — y12 (i) z° — y9

o Watch Video Solution



https://dl.doubtnut.com/l/_FZA3pnLC8vGo
https://dl.doubtnut.com/l/_hnBHgSkCdp6K
https://dl.doubtnut.com/l/_3CuUWxgCyiPV
https://dl.doubtnut.com/l/_DaYxomgJmFwa

7. Factorize : () z°+322+3z—7 (i) z® —322+32z+7 (i

2 — 723 — 8

o Watch Video Solution

8.Factorize: 8(z + y)* — 27(z — y)°

o Watch Video Solution

9. Factorize each of the following expressions : (i) a® — ° (i) a® + ° (iii)

a’ + ab®

o Watch Video Solution

10. Factorize the following expression by splitting the middle term:

9(z — 2y)° — 4(z — 2y) — 13

o Watch Video Solution



https://dl.doubtnut.com/l/_cYCW0uiaZg9O
https://dl.doubtnut.com/l/_hvWYnhjUAePf
https://dl.doubtnut.com/l/_N2ktzHDNuZWM
https://dl.doubtnut.com/l/_vWMO0PYCrfIK

1. What are the possible expression for the dimensions of a cuboid

whose volume is 2ky? + 6ky — 20k

° Watch Video Solution

12.1fp =2 — a, provethata3+6ap+p3—8:O

° Watch Video Solution

13. Factorize each of the following expressions : . (i)
(2z — 3y)® + (42 — 22)° + (3y — 42)°, (i)

2v/2a3 + 164/2b® + ¢ — 12abe

° Watch Video Solution

14. Factorize : (a2 — b2)3 + (b2 — 02)3 + (c2 — a2)3

s I


https://dl.doubtnut.com/l/_vWMO0PYCrfIK
https://dl.doubtnut.com/l/_NYvsxOQGehPR
https://dl.doubtnut.com/l/_yCdKPvnZ4g0D
https://dl.doubtnut.com/l/_CLGDt2sylk9B
https://dl.doubtnut.com/l/_kxfFKZUqFmS9

| ¥ Vvatch Video Solution |

15. Factorize : (z — 2y)° + (2y — 32)® + (32 — z)*

o Watch Video Solution

a? — b2)3 + (b2 . cz)3 + (cz . a2)3
(a,—b)?’+(b—c)3+(c—a)3

16. Simplify:

o Watch Video Solution

17. Find the value of 23 — 8y® — 362y — 216, when z = 2y + 6.

o Watch Video Solution

18. Factorize each of the following expressions : et + 22+ 1 (i)

z* + 522 4+ 9

o Watch Video Solution



https://dl.doubtnut.com/l/_kxfFKZUqFmS9
https://dl.doubtnut.com/l/_QkYsN0fgKbGi
https://dl.doubtnut.com/l/_YfXRkRVReP3O
https://dl.doubtnut.com/l/_J1aKVPWCdA9F
https://dl.doubtnut.com/l/_0Jmv5PrbW2WF

19. Factorize each of the following expressions:

2p(a — b) 4 3q(ba — 5b) + 4r(2a — 2b)

° Watch Video Solution

20. Prove that

(@a+b)°+(b+¢)®+(cta)®—3a+b)(b+c)cta)=2(a®+b+c

° Watch Video Solution

21.  Factorize each of the following  expressions: (i)

4a® 4 12ab + 9* — 8a — 12b, (ii)a® + b*> — 2(ab — ac + bc)

° Watch Video Solution



https://dl.doubtnut.com/l/_0Jmv5PrbW2WF
https://dl.doubtnut.com/l/_HiA92kR1RI35
https://dl.doubtnut.com/l/_uTh4stvpEOcp
https://dl.doubtnut.com/l/_QWU9TavA9tMR

22, Factorisation by grouping the terms:

(m2 + 3.’13)2 — 5(:1:2 + 33@) — y(arz2 + 3m) + 5y

o Watch Video Solution

23. Factorize each of the following expressions : 4a> — 9 — 2a — 3b

o Watch Video Solution

24. Factorize each of the following algebraic expressions : 2% — ¢ (ii)

al2pt _ ghpl2

o Watch Video Solution

25. Factorize: (i) 8z3 + 27y + 2° — 18zyz, (ii) a® — 80> — 64¢® — 24abc

o Watch Video Solution



https://dl.doubtnut.com/l/_4kyb9Kjz3NdM
https://dl.doubtnut.com/l/_rqfohFvrkwUx
https://dl.doubtnut.com/l/_MJzA9wLwQ7tc
https://dl.doubtnut.com/l/_J8pJymWcMIwZ
https://dl.doubtnut.com/l/_JnZ7uBZRCwRA

26. Factorize : 64a® + 125b° + 240a2b + 300ab’

o Watch Video Solution

27. Factorize each of the following expressions :
(i) 432 + 5z — 24/3,

(ii) 54/52% + 30z + 8/5

o Watch Video Solution

28. Factorize : (ac2 — 4z) (932 —4dz —1) — 20

o Watch Video Solution

29, Factorize :p3(q — r)3 + q3(7" — p)3 + 7’3(19 - Q)3

o Watch Video Solution



https://dl.doubtnut.com/l/_JnZ7uBZRCwRA
https://dl.doubtnut.com/l/_fkJwQulP1au1
https://dl.doubtnut.com/l/_cdddY1zvakJ4
https://dl.doubtnut.com/l/_dw0X9rsEr8UM
https://dl.doubtnut.com/l/_bpVkyUyiURxV

30.Factorize: (z — y)* + (y — 2)°* + (2 — z)*

o Watch Video Solution

31.Factorize : 2¢/22° + 3/3y° + /5(5 — 3,/6zy)

o Watch Video Solution

32. Prove that

1
a® + b + ¢ — 3abc = §(a+b+c){a—b)2+(b—c)2+(c—a)2}

o Watch Video Solution

33. Factorize : 2¢/2a® + 8b% — 27¢® + 184/2abc

o Watch Video Solution



https://dl.doubtnut.com/l/_bpVkyUyiURxV
https://dl.doubtnut.com/l/_PcgwVOS12z4S
https://dl.doubtnut.com/l/_nbV9EUCJN8sy
https://dl.doubtnut.com/l/_p7KFl535FyQk

34.Resolve a® — b® + 1 + 3ab into factors.

o Watch Video Solution

35. Factorise : (@ + b)* + (b+¢)* + (¢ + a)® — 3(a + b) (b + ¢)(c + a)

o Watch Video Solution

36. Factorize  each of the following  expressions

2?2 + 2zy + y2 — a® + 2ab — b

o Watch Video Solution

37. Factorize each of the following expressions : 3 — 12(a — b)2

o Watch Video Solution



https://dl.doubtnut.com/l/_hhJKUTGgb01W
https://dl.doubtnut.com/l/_pNGzz3g7sWOH
https://dl.doubtnut.com/l/_zXz3RNhiUsjV
https://dl.doubtnut.com/l/_1huvC71amS16

38. Factorize each of the following expressions : z(z + z) — y(y + 2)

o Watch Video Solution

39, Factorize each of the following expressions : a? — b —a — b

o Watch Video Solution

40. Factorize each of the following expressions : 2522 — 10z + 1 — 36y>

o Watch Video Solution

41. Factorize each of the following expressions : 1 — 2ab — (a2 + bz)

o Watch Video Solution



https://dl.doubtnut.com/l/_ll0SjdtUSLNo
https://dl.doubtnut.com/l/_XolF9IQtvwAF
https://dl.doubtnut.com/l/_ruMDkorxpaj5
https://dl.doubtnut.com/l/_h7eAOwm2jo1y

42, Factorize each of the following expressions:

ab(a2 + b — cz) + bc(a2 + b — c2) — ca(a2 + b — c2)

° Watch Video Solution

43. Factorize each of the following expressions:

(2’ +y° —2%) +y(—2® —y* +2%) — 2(a® +y* — 2%

° Watch Video Solution

44, Factorize each of the following expressions by splitting the middle

term: 2(z + y)> — 9(z +y) — 5

° Watch Video Solution

45. Factorize each of the following expressions by splitting the middle

term: 8(a + 1)> + 2(a + 1)(b + 2) — 15(b + 2)°

| e |


https://dl.doubtnut.com/l/_d4Xioi7ta2xe
https://dl.doubtnut.com/l/_hRU50dk0oQrw
https://dl.doubtnut.com/l/_mPG36QfCetkY
https://dl.doubtnut.com/l/_kbA2W2RVrE6R

| & Watch Video Solution I

46. Factorize each of the following  expressions: (a)
2p(a — b) + 3q (5a — 5b) + 4r(2b — 2a) (b)
ab(a2 + b — c2) + bc(a2 + b — c2) — ca(a2 + b — c2) (c)

m(m2+y2—z2)+y(—m2—y2+z2)—z(m2+y2—zz)

° Watch Video Solution

47.Factorize of the expression: a’z + a*(z — y) — a(y + 2) — 2

° Watch Video Solution

48. Factorisation by grouping the terms:

(m2 + 3.’13)2 — 5(:1:2 + 33@) — y(arz2 + 3m) + 5y

° Watch Video Solution



https://dl.doubtnut.com/l/_kbA2W2RVrE6R
https://dl.doubtnut.com/l/_bAL9HbmF8zea
https://dl.doubtnut.com/l/_vkYBEa4PYJJe
https://dl.doubtnut.com/l/_hs3eObkBovQu
https://dl.doubtnut.com/l/_jLHBzOe3ZuvN

49. Factorize each of the following expressions:
(i)4a® + 12ab + 9b° — 8a — 12b,

(ida? + b® — 2(ab — ac + be)

° Watch Video Solution

50. Factorize each of the following
_ 1)’ 1
(I)(bxr——| +4(bxz——)+4, z#0
x x
(i)4(x + y)° — 28y(z + y) + 49y°

(#47) (2a + 3b)° + 2 (2a + 3b)(2a — 3b) + (2a — 3b)°

expressions:

° Watch Video Solution

51. Factorise:
(i) 422 + 9y? + 1622 + 122y — 24yz — 1622

(i) 222 + y% + 82% — 2/ 2zy + 4 2yz — 8zz

° Watch Video Solution



https://dl.doubtnut.com/l/_jLHBzOe3ZuvN
https://dl.doubtnut.com/l/_TA1UKYWcO62Z
https://dl.doubtnut.com/l/_135hQx0rWLKD
https://dl.doubtnut.com/l/_kfnFC4F0AqLg

52. Factorize each of the following algebraic expressions :

(iyz® — ¢

(i) a'2z* — otz

° Watch Video Solution

53. Factorize each of the following algebraic expressions : z® — 3% (ii)

al2pt _ ghpl2

° Watch Video Solution

54. Factorize each of the following expressions:
(iY4a® — 9b* — 2a — 3b

(i) 22 + 2my+y2 —a® + 2ab — V?

° Watch Video Solution



https://dl.doubtnut.com/l/_kfnFC4F0AqLg
https://dl.doubtnut.com/l/_s3l8D54f7oDE
https://dl.doubtnut.com/l/_uSaDyE03M6Tp

55. Factorize each of the following expressions: (i)3 — 12(a — b)2 (ii)

z(z 4+ 2) —yly + 2)

° Watch Video Solution

56. Factorize each of the following expressions: (a) a>—b —a—>b(b)

25z — 10z + 1 — 36y> ()1 — 2ab — (a® + b?)

° Watch Video Solution

57. Factorize each of the following expressions : )zt + 222 + 1

° Watch Video Solution

58. Factorize each of the following rational expressions:
(iyz* — 4

(i) z* + 42> + 3

| e |


https://dl.doubtnut.com/l/_5fR6Z2RNjDj1
https://dl.doubtnut.com/l/_xAyiPOutZcc0
https://dl.doubtnut.com/l/_xOHu3l2lU1I8
https://dl.doubtnut.com/l/_C7sJEghGmZgy

| &J Watch Video Solution

59. Factorize the splitting the middle term: 2> + 33z + 6

o Watch Video Solution

60. Factorize the splitting the middle term: z® + 3,/3z + 6

o Watch Video Solution

61. Factorize : (mz — 4z) (a:2 — 4z — 1) — 20

o Watch Video Solution

62. Factorize each of the following expressions :
(i) 432 + 5z — 24/3,

(ii) 54/52% + 30z + 8/5

Y.


https://dl.doubtnut.com/l/_C7sJEghGmZgy
https://dl.doubtnut.com/l/_06cbqtQlTn9N
https://dl.doubtnut.com/l/_hmxe3y6C5fd2
https://dl.doubtnut.com/l/_qA2tcScPMvdU
https://dl.doubtnut.com/l/_lfd6E2Zrzl9D

| ¥ Vvatch Video Solution |

63. Factorize of the expression: 5,/5 = + 30z + 8,/5

o Watch Video Solution

64. Factorize of the expression: 74/2 2 — 10z — 4./2

o Watch Video Solution

65. Factorize each of the following expressions by splitting the middle

term: 9(z — 2y)° — 4(z — 2y) — 13

o Watch Video Solution

66. Factorize each of the following expressions by splitting the middle

term: 2(z +y)° — 9z +y) — 5

| o WMl L\ dan C Al ikl mn



https://dl.doubtnut.com/l/_lfd6E2Zrzl9D
https://dl.doubtnut.com/l/_FAThAKWI3gkQ
https://dl.doubtnut.com/l/_Qvg6Ob7agGd9
https://dl.doubtnut.com/l/_0ODTIZwiiJMD
https://dl.doubtnut.com/l/_hz43Ij2XI2NW

8 —rvvatlil VIUCU JUViuuivil )

67. Factorize each of the following expressions by splitting the middle

term: 8(a + 1)® + 2(a + 1)(b + 2) — 15(b + 2)°

° Watch Video Solution

68. Give possible expressions for the length and breadth of the rectangle

whose area is 25a> — 35a + 12.

° Watch Video Solution

69. What are the possible expressions for the dimensions of a cuboid

whose volume is 2ky? + 6ky — 20k-

° Watch Video Solution

70.Factorize: z° + z — 322 — 3


https://dl.doubtnut.com/l/_hz43Ij2XI2NW
https://dl.doubtnut.com/l/_stds33xTlPjT
https://dl.doubtnut.com/l/_WXw2sh3Duy0m
https://dl.doubtnut.com/l/_apy0kG53Sedz
https://dl.doubtnut.com/l/_RYCXYN5JJs6e

° Watch Video Solution

71.Factorize : a(a + b)* — 3a%b(a + b)

° Watch Video Solution

72. Factorize: a:(x3 — y3) + 3zy(z — y)

° Watch Video Solution

73. Factorize: z° — 222y + 3zy? — 6y°

° Watch Video Solution

74. Factorize: 6ab — b + 12ac — 2bc

° Watch Video Solution



https://dl.doubtnut.com/l/_RYCXYN5JJs6e
https://dl.doubtnut.com/l/_jIXUA97WG6wi
https://dl.doubtnut.com/l/_itMOqDCGWlu7
https://dl.doubtnut.com/l/_semaZ0UwzIix
https://dl.doubtnut.com/l/_IQiQdhNSE6ze
https://dl.doubtnut.com/l/_jhByKXHi0Ym8

1 1
75. Factorize: <m2 + —2> — 4(:1; + —) +6
€T X

o Watch Video Solution

76.Factorize: z(x — 2)(z — 4) + 4= — 8

o Watch Video Solution

77.Factorize: (z + 2) (z® + 25) — 10z® — 20z

o Watch Video Solution

78.Factorize: 2a* + 2./6ab + 3b*

o Watch Video Solution

79. Factorize: (a —b+¢)> + (b—c+a)® +2(a —b+¢)(b— ¢+ a)


https://dl.doubtnut.com/l/_jhByKXHi0Ym8
https://dl.doubtnut.com/l/_UNrCFRMdFHwJ
https://dl.doubtnut.com/l/_0cYkU2BozfnI
https://dl.doubtnut.com/l/_ItKTcDnvceKP
https://dl.doubtnut.com/l/_T3FE79difDPi

° Watch Video Solution

80. Factorize: a®> + b* + 2(ab + bc + ca)

° Watch Video Solution

81. Factorize: 4(z — y)° — 12(z — y)(z + y) + 9(z + v)*

° Watch Video Solution

82. Factorize: a> — b® + 2bc — 2ac

° Watch Video Solution

83. Factorize: a®> + 2ab + b> — ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_T3FE79difDPi
https://dl.doubtnut.com/l/_nfmsU25an4p3
https://dl.doubtnut.com/l/_TXnjfzfILl30
https://dl.doubtnut.com/l/_jsp88A2eKeTa
https://dl.doubtnut.com/l/_T7Wy57trbeOX
https://dl.doubtnut.com/l/_bn4OQZVs6dFk

84. Factorize: a® + 4b> — 4ab — 47

° Watch Video Solution

85. Factorize: a:yg — y:z:g

° Watch Video Solution

86. Factorize: z* + 2.@23;2 + y4

° Watch Video Solution

87. Factorize: 2 + y2 — 2zy — 422

° Watch Video Solution

88. Factorize: 2 + 6 /2 z + 10


https://dl.doubtnut.com/l/_bn4OQZVs6dFk
https://dl.doubtnut.com/l/_2FlURtBfErE0
https://dl.doubtnut.com/l/_0qvbbzUIdSK0
https://dl.doubtnut.com/l/_cOCIS1bygaiD
https://dl.doubtnut.com/l/_EyROWUYCAW48

o Watch Video Solution

89. Factorize: 2 — 22z — 30

o Watch Video Solution

90. Factorize: 2° — /3 — 6

o Watch Video Solution

91.Factorize: x> + 5 /5 z + 30

o Watch Video Solution

92. Factorize: z2 + 2 /3 x — 24

o Watch Video Solution



https://dl.doubtnut.com/l/_EyROWUYCAW48
https://dl.doubtnut.com/l/_oi3StJjJB55Q
https://dl.doubtnut.com/l/_O3RHZXlXppqT
https://dl.doubtnut.com/l/_DBl2opnwd4He
https://dl.doubtnut.com/l/_IXL72ykZLez7
https://dl.doubtnut.com/l/_I5yX85H8SEzZ

5 1
93, Factorise: 222 — i + 5}

° Watch Video Solution

12
94. Factorize: 22 + gw + g

° Watch Video Solution

1
95. Factorize: 212% — 2z + o

° Watch Video Solution

96. Factorize: 5 /5 2° + 20z + 3 /5

° Watch Video Solution

97.Factorize: 2z + 3 /5 + 5


https://dl.doubtnut.com/l/_I5yX85H8SEzZ
https://dl.doubtnut.com/l/_MxSWrpTS9DcJ
https://dl.doubtnut.com/l/_lmfrhDvto7Dq
https://dl.doubtnut.com/l/_MSny1vjbEy2W
https://dl.doubtnut.com/l/_sks0fovzkYGu

° Watch Video Solution

98. Factorize : 9(2a — b)® — 4(2a — b) — 13

° Watch Video Solution

99. Factorize : 7(z — 2y)* — 25(z — 2y) + 12

° Watch Video Solution

100. Factorize each of the following expressions by splitting the middle

term: 2(z + y)° — 9z +y) — 5

° Watch Video Solution

101. Give possible expressions for the length and breadth of each of the

following rectangles, in which their areas are given:


https://dl.doubtnut.com/l/_sks0fovzkYGu
https://dl.doubtnut.com/l/_XIiMTdu2Xkhk
https://dl.doubtnut.com/l/_rSqqAMuQwl65
https://dl.doubtnut.com/l/_4ZubbXyAL4mu
https://dl.doubtnut.com/l/_XKAwtdxc7mtC

(i) Area: 25a> — 35a + 12

(ii) Area: 353> + 13y — 12

° Watch Video Solution

102. What are the possible expressions for the dimensions of the cuboid

whose volume is 3z% — 12z.

° Watch Video Solution

103. Factorize : a® + 27

° Watch Video Solution

104. Factorize: 27a°® + 125b°

° Watch Video Solution



https://dl.doubtnut.com/l/_XKAwtdxc7mtC
https://dl.doubtnut.com/l/_yltz47JKK9vS
https://dl.doubtnut.com/l/_1tJqBDla94KK
https://dl.doubtnut.com/l/_Y5Ti1x8b89LI

105. Factorize: (2a + 1) + (a — 1)

o Watch Video Solution

106. Factorize: a® — 0. 216

o Watch Video Solution

107. Factorize: p°® — 512¢°

o Watch Video Solution

108. Factorize: (z + 1)* — (z — 1)*

o Watch Video Solution

109. Factorize: (z + 1) + (z — 1)*


https://dl.doubtnut.com/l/_npHlxSaHAqpL
https://dl.doubtnut.com/l/_GRz0jadDJpvs
https://dl.doubtnut.com/l/_v1NP3uRLLItU
https://dl.doubtnut.com/l/_Bp90QiiA66N5
https://dl.doubtnut.com/l/_kKEKSChxz6XN

o Watch Video Solution

110. Factorize: 8(x + y)* — 27 (z — y)*

o Watch Video Solution

111. Factorize: a® — °

o Watch Video Solution

112. Factorize: a® + b°

o Watch Video Solution

113. Factorize: a” + ab®

o Watch Video Solution



https://dl.doubtnut.com/l/_kKEKSChxz6XN
https://dl.doubtnut.com/l/_UEppoIwJt6nA
https://dl.doubtnut.com/l/_UWivvL4LA36B
https://dl.doubtnut.com/l/_Nndb9ObLNGDx
https://dl.doubtnut.com/l/_2RY45ezwxwi4
https://dl.doubtnut.com/l/_jWnMoJdFPUu9

114. Factorize each of the following expressions : 12 — ' (i) 2° — o°

° Watch Video Solution

115. Factorize each of the following expressions : z1? — 12 (i) 2° — o/°

° Watch Video Solution

116. Factorize: z° + 322 + 3z — 7

° Watch Video Solution

117. Factorize :2° — 322 + 32 + 7

° Watch Video Solution

118. Factorize: % — 723 — 8


https://dl.doubtnut.com/l/_jWnMoJdFPUu9
https://dl.doubtnut.com/l/_RIEYHs0b9gkR
https://dl.doubtnut.com/l/_3evWqG1vrSyL
https://dl.doubtnut.com/l/_fOcrEgQ0Eezl
https://dl.doubtnut.com/l/_pty4pOQLg5f8

° Watch Video Solution

119. Prove that :

(0.87 x 0.87 x 0.87+0.13 x 0.13 x 0.13) / (0. 87 x 0.87-0.87 x 0.13+0.13 x 0.13)=1

° Watch Video Solution

120. Factorize: p3 + 27

° Watch Video Solution

121. Factorize: y3 + 125

° Watch Video Solution

122. Factorize: 1 — 27 a®

° Watch Video Solution



https://dl.doubtnut.com/l/_pty4pOQLg5f8
https://dl.doubtnut.com/l/_CnVDNyEInzbx
https://dl.doubtnut.com/l/_HK6V2AY2xfiB
https://dl.doubtnut.com/l/_L1HIYsd6MGej
https://dl.doubtnut.com/l/_bYvx9ksU5leP

123. Factorize: 8z3y® + 2743

° Watch Video Solution

124. Factorize: 64a® — b°

° Watch Video Solution

3

125. Factorize: L 83
' ‘o116~ Y

o Watch Video Solution

126. Factorize: 10m4y — 10:1cy4

o Watch Video Solution



https://dl.doubtnut.com/l/_bYvx9ksU5leP
https://dl.doubtnut.com/l/_G6itGnXET0tO
https://dl.doubtnut.com/l/_v7ZbexUholVM
https://dl.doubtnut.com/l/_Ovp4sr0VQJMn
https://dl.doubtnut.com/l/_QdK3gmq5H66T

127. Factorize: 54z%y + 2z3%y*

o Watch Video Solution

128. Factorize: 32a® + 108b°

o Watch Video Solution

129. Factorize: (a — 2b)® — 512b°

o Watch Video Solution

130. Factorize: (a + b)® — 8(a — b)*

o Watch Video Solution

131. Factorize: (z + 2)° + (z — 2)*


https://dl.doubtnut.com/l/_lUf8XupOariC
https://dl.doubtnut.com/l/_PGptwzX1yvOi
https://dl.doubtnut.com/l/_g7Jh1IEkAPAF
https://dl.doubtnut.com/l/_DZOSKB5upzpT
https://dl.doubtnut.com/l/_aWuK86V48hWm

o Watch Video Solution

132. Factorise 8:c2y3 — b

o Watch Video Solution

133. Factorize: 1029 — 3z°

o Watch Video Solution

134. Factorize: z® + y6

o Watch Video Solution

135. Factorize: w3y3 +1

o Watch Video Solution



https://dl.doubtnut.com/l/_aWuK86V48hWm
https://dl.doubtnut.com/l/_uNjvA2WCpX1e
https://dl.doubtnut.com/l/_mqP7AWgsWQb5
https://dl.doubtnut.com/l/_fSazT5c3umLV
https://dl.doubtnut.com/l/_xnSNZ0KBcnhU
https://dl.doubtnut.com/l/_tdnaTWbttrw5

136. Factorize: w4y4 —zy

° Watch Video Solution

137. Factorize: a'® + b'?

° Watch Video Solution

138. Factorize: z° + 622 + 12z + 16

° Watch Video Solution

139. Factorize: a® + 8> +a + b

° Watch Video Solution

1 2
140. Factorize: a® — — — 2a + —
ad a


https://dl.doubtnut.com/l/_tdnaTWbttrw5
https://dl.doubtnut.com/l/_ThrD3Lnug7Of
https://dl.doubtnut.com/l/_ixezvWN6rUIu
https://dl.doubtnut.com/l/_9hIaWl79Lusp
https://dl.doubtnut.com/l/_PNuQLUG9jC8y

° Watch Video Solution

141. Factorize: a® + 3a%b + 3ab®> + b° — 8

° Watch Video Solution

142. Factorize: 8a® — b® — daz + 2bx

° Watch Video Solution

173 x 173 x 173 + 127 x 127 x 127

143. Simplify:
mply: e 73 — 173 x 127 1 127 x 127

° Watch Video Solution

155 x 155 x 155 — 585 x 55 X Hd
155 x 155+ 155 X 55 + 55 X 5d

144. Simplify:

° Watch Video Solution



https://dl.doubtnut.com/l/_PNuQLUG9jC8y
https://dl.doubtnut.com/l/_bpaIipJnqcES
https://dl.doubtnut.com/l/_vlUENMxwjDP5
https://dl.doubtnut.com/l/_rn1iDsVgaqFF
https://dl.doubtnut.com/l/_K0ihdbQvqnfw
https://dl.doubtnut.com/l/_tnMHsOG7DBuQ

1.2 x 1.2 x 1.2-0.2 x 0.2 x 0.2

145. Simplify:
S S T 2712 x 0.270.2 x 0.2

° Watch Video Solution

146. Factorize: 8a® + b® + 12a%b + 6ab’

° Watch Video Solution

147. Factorize: 8a°® — b° — 12a2b + 6ab?

° Watch Video Solution

148. Factorize: 27 — 125a® — 135a + 225a°

° Watch Video Solution

149. Factorize: 64a® — 276° — 144a2b + 108ab®


https://dl.doubtnut.com/l/_tnMHsOG7DBuQ
https://dl.doubtnut.com/l/_c80vJW5VBn4B
https://dl.doubtnut.com/l/_TOrvwDmr2ikI
https://dl.doubtnut.com/l/_qSA9TLgZgABY
https://dl.doubtnut.com/l/_jCefaBrlctQI

° Watch Video Solution

1 9 1
150. Factorize: 27p° — — — —p®> + —
actorize: 27 p 516 5P + 1P
° Watch Video Solution
27a2 9a

151. Factorize : 27a® + +

6 T T 1682

° Watch Video Solution

64 96 48
152. Factorize: —zx° — 8 — — 22 + —
actorize 125:1: 8 25ac 3 T

° Watch Video Solution

153. Factorize: a® + 3a%b + 3ab®> + b° — 8

° Watch Video Solution



https://dl.doubtnut.com/l/_jCefaBrlctQI
https://dl.doubtnut.com/l/_sXsD9hD2xDmZ
https://dl.doubtnut.com/l/_yeR17MucKqC2
https://dl.doubtnut.com/l/_MMY9jgg4XGD8
https://dl.doubtnut.com/l/_iybCriemFKOM

154. Factorize: 64a® + 1256° + 240a2b + 300ab’

o Watch Video Solution

155. Factorize: 125z — 27y% — 2252y + 135zy>

o Watch Video Solution

156. Factorize 8 z° +1+ 4 x> + 2
: P — — T
27 3

o Watch Video Solution

157. Factorise 8z° + 27y> + 3622y + 5dzy? .

o Watch Video Solution

158. Factorize: a® — 3a’b + 3ab®> — b + 8


https://dl.doubtnut.com/l/_4Vi6TIwvoTCT
https://dl.doubtnut.com/l/_CpvbluMdPDya
https://dl.doubtnut.com/l/_GjtCMrGY0Fu2
https://dl.doubtnut.com/l/_mk5OqcvC5nAG
https://dl.doubtnut.com/l/_Df5GuTSCXtPa

° Watch Video Solution

159. Factorize: 2% + 8y° + 622y + 12zy°

° Watch Video Solution

160. Factorize: z° + 8y® + 62y + 12zy>

° Watch Video Solution

161. Factorize: 8a® + 27b° + 36a’b + 54ab?

° Watch Video Solution

162. Factorize: 8a°® — 27b° — 36a’b + 54ab?

° Watch Video Solution



https://dl.doubtnut.com/l/_Df5GuTSCXtPa
https://dl.doubtnut.com/l/_o1xm0PJnZEip
https://dl.doubtnut.com/l/_OagAcpoSSHAu
https://dl.doubtnut.com/l/_U8MS8AGRXVPu
https://dl.doubtnut.com/l/_GGYnz8W02zlS
https://dl.doubtnut.com/l/_k5M1PyFrckNL

163. Factorize: 2> — 12z(z — 4) — 64

° Watch Video Solution

164. Factorize: a’z® — 3a%bz? + 3ab’z — b°

° Watch Video Solution

165. Factorize: 8z + 27y% + 2% — 18zyz

° Watch Video Solution

166. Factorize: a® — 8b° — 64c® — 24abc

° Watch Video Solution

167. Factorise : (a + b)* 4 (b + ¢)® + (¢ + a)® — 3(a + b)(b + ¢)(c + a)


https://dl.doubtnut.com/l/_k5M1PyFrckNL
https://dl.doubtnut.com/l/_Sj3aVACd7HKT
https://dl.doubtnut.com/l/_1pivawgE5WFg
https://dl.doubtnut.com/l/_u8j8b5YzFcD4
https://dl.doubtnut.com/l/_jIrslGIeVhh6

° Watch Video Solution

168. Resolve a® — b + 1 — 3ab into factors.

° Watch Video Solution

169. Factorize : 21/2a® + 80> — 27¢® + 184/2abc

° Watch Video Solution

170. Prove that

1
a® + b + ¢ — 3abc = §(a+b+c){a—b)2+(b—c)2+(c—a)2}

o Watch Video Solution

171. Prove that

(a+b)>+(b+¢)®+(c+a)®—3(a+b)(b+c)(c+a) =2’ +b+¢



https://dl.doubtnut.com/l/_jIrslGIeVhh6
https://dl.doubtnut.com/l/_JGpVZZa45C2g
https://dl.doubtnut.com/l/_UKach6KtH2e3
https://dl.doubtnut.com/l/_6IYyEnEvouRW
https://dl.doubtnut.com/l/_ays0Ej7fgIch

| o Watch Video Solution

172. Factorize : 2¢/22° + 3/3y* + /5(5 — 3/6zy)

o Watch Video Solution

173.Find the product: (a — b — ¢)(a® + b° + ¢ + ab + ac — bc)

o Watch Video Solution

174. Find the product:

(3z — 5y — 4) (92° + 25y° + 15zy + 122 — 20y + 16)

o Watch Video Solution

3

175.Factorize: (z — y)° + (y — 2)° + (2 — z)*

o Watch Video Solution



https://dl.doubtnut.com/l/_ays0Ej7fgIch
https://dl.doubtnut.com/l/_vHDf1Sy3R1cK
https://dl.doubtnut.com/l/_wnnt1k6JZkF6
https://dl.doubtnut.com/l/_dtwSKXPQCZHJ
https://dl.doubtnut.com/l/_7HluFO6VyCbi

176. Factorize : p3(q — 'r)3 + q3(7° - p)3 + 7°3(P - Q)3

o Watch Video Solution

177. Factorize : (a® — %)’ + (1 — &)° + (& — a?)°

o Watch Video Solution

178. Factorize : (¢ — 2y)° + (2y — 32)° + (32 — z)°

o Watch Video Solution

(a2 — b2)3 + (b2 — c2)3 + (02 — 0,2)3
(a—b)°+(b—0c)®+ (c—a)®

179. Simplify:

o Watch Video Solution



https://dl.doubtnut.com/l/_7HluFO6VyCbi
https://dl.doubtnut.com/l/_YILhSfBNYRDO
https://dl.doubtnut.com/l/_qbt7bdgycR5M
https://dl.doubtnut.com/l/_GaUeaBi78y0d
https://dl.doubtnut.com/l/_woGJsSZnyv3O

180. Find the value of
(x—a)®+ (@ -0+ (z—c)® -3 —a)(z—0b)(z—c) when

a+b+c=3x

o Watch Video Solution

181. Find the value of 23 — 8y® — 362y — 216, when z = 2y + 6.

o Watch Video Solution

182.1f p = 2 — a, provethata3+6ap+p3 —8=0

o Watch Video Solution

183. Factorize: a® + 8b° + 64c® — 24abe

o Watch Video Solution



https://dl.doubtnut.com/l/_KTNhy7LywyLH
https://dl.doubtnut.com/l/_ji8WRsc4061r
https://dl.doubtnut.com/l/_gPzMrS4OHY9N
https://dl.doubtnut.com/l/_xosRPpZawcXB
https://dl.doubtnut.com/l/_3swxZqMlru2l

184. Factorize: z° — 8y® + 272% + 18zyz

o Watch Video Solution

185. Factorize: 2723 — y® — 2% — 9zyz

o Watch Video Solution

1
186. Factorize: 2—7m3 — 3 4+ 12523 + bzyz

o Watch Video Solution

187. Factorize: 82° + 27y — 2162° + 108zyz

o Watch Video Solution

188. Factorize: 125 + 8z° — 27y> + 90zy



https://dl.doubtnut.com/l/_3swxZqMlru2l
https://dl.doubtnut.com/l/_5DtAytG242Ko
https://dl.doubtnut.com/l/_Nbu21oBJxf9N
https://dl.doubtnut.com/l/_faCKwZ415KXG
https://dl.doubtnut.com/l/_upPqoFOz5Q3l

_ o Watch Video Solution

189. Factorize: (3z — 2y)® + (2y — 42)° + (4z — 3z)®

o Watch Video Solution

190. Factorize: (2z — 3y)°® + (42 — 2z)® + (3y — 42)*

o Watch Video Solution

191. Factorize:

T Z\3 T 2y 3 5 Y 42\°
_+ J— _— - 4z 4+ - — = = — R
(3 y+3)+(3 3+Z)+< 6 3 3)

° Watch Video Solution

192. Factorize: (a — 3b)° + (3b — ¢)® + (c — a)°

° Watch Video Solution



https://dl.doubtnut.com/l/_upPqoFOz5Q3l
https://dl.doubtnut.com/l/_01KoJVtd79cM
https://dl.doubtnut.com/l/_z7UCDhW2qD5X
https://dl.doubtnut.com/l/_xLDCJ8kwRzAI
https://dl.doubtnut.com/l/_swYyi9YctVZo

193. Factorize: 2v/2a® + 34/3b% + ¢® — 31/6abe

° Watch Video Solution

194. Factorize: 31/3a® — b® — 51/5¢® — 3y/16abe

° Watch Video Solution

195. Factorize: 8z° — 125y° + 180zy + 216

° Watch Video Solution

196. Factorize: 2v/2a° + 164/2b° + ¢ — 12abc

° Watch Video Solution



https://dl.doubtnut.com/l/_swYyi9YctVZo
https://dl.doubtnut.com/l/_LL4Lxq7vFh14
https://dl.doubtnut.com/l/_zOhczEEHgBFH
https://dl.doubtnut.com/l/_CqvNfpgp7LAy
https://dl.doubtnut.com/l/_8YlWoOyIWJMu

197.Find the value of z* + ¢y — 122y + 64, when z +y= —4

o Watch Video Solution

198. Multiply: 2?2+ P4+ 22 —zy+ 2+ yz byx +y—=z2

o Watch Video Solution

199. Multiply: 22 + 4y® + 2% + 2zy + z2 — 2yzbyx — 2y — 2

o Watch Video Solution

200. Multiply: z? + 4y* 4+ 2y — 3z + 6y + 9byz — 2y + 3

o Watch Video Solution

201. Multiply: 922 + 25y% + 152y — 12z + 20y + 16 by 3z — 5y + 4


https://dl.doubtnut.com/l/_GZoIAqqpa9ns
https://dl.doubtnut.com/l/_rcKYOGg0dQI9
https://dl.doubtnut.com/l/_mHooCUBzrpg0
https://dl.doubtnut.com/l/_Iz0e8UpZ482W
https://dl.doubtnut.com/l/_cV4Rghxv3wrv

° Watch Video Solution

202. Factorize: % — 242% — 25 = 0.

° Watch Video Solution

203. Factorize: 22 — 1 — 2a — a?

° Watch Video Solution

204.1fa + b + ¢ = 0, then write the value of a® + b® + ¢*

° Watch Video Solution

205.1fa’> + >+ =20 anda + b+ ¢ =0, find ab + be + ca

° Watch Video Solution



https://dl.doubtnut.com/l/_cV4Rghxv3wrv
https://dl.doubtnut.com/l/_KTcYxC3kqElc
https://dl.doubtnut.com/l/_JA1lmW7aBXL1
https://dl.doubtnut.com/l/_Ks7QiFzt3XIu
https://dl.doubtnut.com/l/_xntCzGAyAwYH
https://dl.doubtnut.com/l/_7SXRDp1URkTf

206.1fa + b+ ¢ = 9and ab + be + ca = 40, find a®> + b + %

° Watch Video Solution

207.1fa®> + b* + ¢ = 250 and ab+ bc +ca = 3, finda + b+ ¢

° Watch Video Solution

208. Write the value of 25° — 75% + 50°

° Watch Video Solution

209. Write the value of 48° — 30° — 18°

° Watch Video Solution

[\

3 3 3
210. Write the value of (l) + (%) — (%)


https://dl.doubtnut.com/l/_7SXRDp1URkTf
https://dl.doubtnut.com/l/_LSLqVrRqfv0A
https://dl.doubtnut.com/l/_WbIJdvSfBarG
https://dl.doubtnut.com/l/_EFcLxG50FjN3
https://dl.doubtnut.com/l/_DelC3GZpVAD8

Answer: B

o Watch Video Solution

211. Write the value of 30° + 20° — 50°

o Watch Video Solution

212. The factors of a®> — 1 — 2z — z? are (a)(a — = + 1)(a — z — 1) (b)

(a+z—1)(a—z+1)()(a+z+1)(a—x— 1) (d) none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_DelC3GZpVAD8
https://dl.doubtnut.com/l/_P4UNtjIGpHWL
https://dl.doubtnut.com/l/_NMKER8jpkKcg
https://dl.doubtnut.com/l/_aDYdOeXb3QrJ

213. The factors of 2t — 22— 10z — 25

(z® + 3z +5)(z> — 3z +5)  (b)(z® + 3z +5) (2 + 3z — b)

(a: +x + 5) (:1: —x + 5) (d) none of these

(a)
()

° Watch Video Solution

214. The factors of 2 + 4y* + 4y — 4zy — 2z — S are
@(z -2y —4)(z — 2y +2)
(b) (x —y+2)(z — 4y —4)
() (z + 2y — 4)(z + 2y + 2)

(d) none of these

o Watch Video Solution

215. The factors of 2% — 2%y — zy? + > are

(a(z + y) (* — 2y +°)

(b) (z + y) (z° + 2y + ¥°)


https://dl.doubtnut.com/l/_aDYdOeXb3QrJ
https://dl.doubtnut.com/l/_2KN0tHBvbw7a
https://dl.doubtnut.com/l/_KJtILmOkVOCG

©(z +y)*(z —y)

(d) (z — y)*(z +y)

° Watch Video Solution

216. The factors of 3 — 1 + y® + 3zyare

@(z—-1+y) (2 +1+y* +z+y—zy)
bz +y+1)(z®+y*+1—z2y—z —Y)
@z —-1+y)(z® - 1-y*+z+y+zy)

d3(z +y—1)(z® +y*> — 1)

° Watch Video Solution

217. The factors of 8a® + b* — 6ab + 1 are
(@) (2a + b — 1)(4a® + b* + 1 — 3ab — 2a)
(b)(2a — b+ 1) (4a2—|—b2—4ab+1—2a—|—b)
(©)(2a + b+ 1)(4a® + b* + 1 — 2ab — b — 2a)

(d)(2a — 1+ b)(4a® + 1 — 4a — b — 2ab)

.


https://dl.doubtnut.com/l/_KJtILmOkVOCG
https://dl.doubtnut.com/l/_RSHkvsSnL6gl
https://dl.doubtnut.com/l/_MwZP7K3fsjcr

| ¥ vvatch vidaeo sSolution

218.(z + y)® — (z — y)* can be factorized as
(a) 2y(32? + ¢*)
(b) 2z (322 + 3%
(0) 2y(3y* + 2?)

(d)2z (z® + 3y?)

° Watch Video Solution

219. The factors of 22 — 7z + 6 are
Az(x —6)(z —1)
B. (z° — 6)(z — 1)
C(z+1)(x+2)(z—3)

D.(z —1)(z + 3) (x — 2)

Answer: D

[ o


https://dl.doubtnut.com/l/_MwZP7K3fsjcr
https://dl.doubtnut.com/l/_VEo4X2onwB8F
https://dl.doubtnut.com/l/_DYWeNr9oxBUa

l & Watch Video Solution J

>+ (¢ — a)® can be factorized as

220. The expression (a — b)® + (b — c)
(@(a —b)(b—c)(c—a)

(b) 3(a — b)(b — ¢)(c — a)

(©—3 (a—b)(b—c)(c — a)

(d)(a+b+c)(a® + b + c* —ab— be — ca)

° Watch Video Solution

221. The expression z* -+ 4 can be factorized as
@) (z° + 2z + 2) (2° — 2z + 2)
(b)(z* + 2z + 2) (2* + 2z — 2)
(©(z* — 2z — 2) (2* — 2z + 2)

(d) (z* +2) (z* — 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_DYWeNr9oxBUa
https://dl.doubtnut.com/l/_BXZDfEe5r8TG
https://dl.doubtnut.com/l/_VuSe57GzN08X

222, If 3t =a-+b+ec, then the value of
(z—a)’+ (2 -0+ (z—0)®—3(x—a)(z—b)(z —c)is
(@a+b+c

(b) (@ — b)(b—c)(c — a)

()0

(d) None of these

° Watch Video Solution

223.1f (z + y)° — (z —y)® — 6y (2> — 4*) = ky?, thenk =
(a)n

(b) 2

(c) 4

(d)8

° Watch Video Solution

224.1f 23 — 322 + 3z 4+ 7 = (m+1)(am2—|—bx+c), thena +b+c=


https://dl.doubtnut.com/l/_k9HZpi1KVbkd
https://dl.doubtnut.com/l/_oxIIZtcFvslj
https://dl.doubtnut.com/l/_bEbYl52usog5

A 4

B.12

C.—10

D.3

Answer: A

o Watch Video Solution

(2.3)° — 0.027
225. The value of 5 is
(2.3)" + 0.69 + 0.09
(a)2
(b) 3
(c) 2327
(d) 2.273

° Watch Video Solution



https://dl.doubtnut.com/l/_bEbYl52usog5
https://dl.doubtnut.com/l/_tIBEgYx96B1b

3 3
0.013 0. 007
226. The value of ( ) + ( ) is

(0.013)°> — 0.013 x 0.007 + (0. 007)"

(a)0. 006
(b) 0. 02
(c) 0. 0091

(d) 0. 00185

o Watch Video Solution



https://dl.doubtnut.com/l/_rfWmQGWVxAml

